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Time : 3Hrs. Sem - I11 - ME (Auto)
Auto. Trans. Sys.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg uel & IR <, UAS U & 9H 4B 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
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The figure in right hand margin indicate marks.
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10. What are the difference between single plate clutch
and multi-plate clutch ? Write in detail.
6
Uhd W doid Ud Hodl Wic dod § &T
IR © ? fawr 4 ford |
OR (3121a1)
What are the advantages of differential used in a
Vehicle ? Describe in brief .
HITTNS! 4 wagd fSwf~aad & aar or
2? ey A gufa e |
11. Name different types of tyres. Describe any one
in detail.
6

faftr=1 YR & <R &1 9 fod | 999 A
fody v &1 quiv B |

OR(3721d)

Write short on the following :
(a) Automatic gear box
(b) Gear shift mechanism
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(i)

(iii)

(iii)

(iv)
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frr=ifea ador o= T2 2:
(31) dvel @eld

I LERALKGE]

(\) @i @™

(]) fet e

The torque which a clutch can transmit,
depends upon the :

(a) Co-efficient of friction

(b) Spring force

(c) Contact surfaces

(d) All of the above

gyl (ST®) Sl dold GAMRAT Sl
2, T e o faHR @ar 2
(31) ot TUTIH

(@) Hu & 9

(@) st was

(%) SuIqa g+

The most effective section against bending is
(a) Rectangular bar

(b) Round bar

(c) Round hollow tube

(d) Square hollow section
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GROUP -C (vi)
Answer all Five Questions.

afl uig 93 & SR < |

6x5=30

7. Name different types of frame used in an automobile

chasis. Explain any one with the help of sketch.

6
Hiex Ml & IR ¥ auaga fafr= o (vii)
@ BH & M ford | Y@E—faa &) gerar 9

fo<l v &I gHST |

OR (3721d1) i)

Draw schematic diagram showing the layout of
the rear engine rear drive vehicle and describe it
in brief.

N8 o4 fUsdr araq AleY MLl & A3MMSHc
(@reT) I el gY ATl o ATHIa 91d
Uq Ol dfdra qufa & |

(viii)

8. Describe the working principle of multi plate
clutch and mention in which type of vehicle is
it used ?

5 1633305

AfIMeged § I &1 S
2|

(31) SIS @Y ATl Bl G
(@) F9H1 W <[P Bl daal

(7)) sifcIAaIg e @) vfadd B 9gaAr
(%) SWidd d§ & &I ]

An under inflated tyre will wear the tread most .
(a) Near centre

(b) Near the edges

(c) In the lateral direction
(d) In the cross direction

$9 841 R R ¥ fgs (MA) &1
e Aftre o g1 2|
@) o< @ fiec

@) sk & e

(¥) ured foum

(%) ameT fovsT fowm #

Constant velocity universal joint is used at :

(a) Front end of the propeller shaft

(b) Rear end of the propeller shaft

(c) Road wheel end of the shaft on front
wheel drive vehicles

(d) Differential end of the shaft on front
wheel drive vehicle.
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OR (3121a1)

Differentiate between dry and wet clutch.
TS U4 d€ @4 H 3} I |

What are the functions of a gear box ? Describe

in brief. 4

iR 9fq9 & @1 ®rd 8 ? 989 § quia & |

OR (3121a1)

How many types of gear box are there ? Explain
any one of them.

firr 9fq fpad yaR @ 3ld € ? fodfl va
P F&aT 9 Gy |

What are the functions of a differential ?
Describe in brief.

femfraaa © w1 o1 2 ? Gau § qufq
N |
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(x)
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Which one of the following is not a type of
gear box.

(a) Sliding mesh gear box

(b) Constant mesh gear box

(c) Synchro mesh gear box

(d) Fluid gear box

ftifed 4 9 @9 R §fq T @ 9aR
gl e ?

(31) wrsfST 99 iR d9few

(@) di=ae< A RR 9fe

(@) Rimaer R 9fe

(]) axat FrAR 9iew

In radial tyre .

(a) One ply layer runs diagonally one way
and another layer other way.

(b) All plies run parallel to one another and
vertical to tyre bead

(¢) Inner tubes are always used

(d) None of the above
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(xix)

(xx)

(xx)
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A two piece propeller shaft requires .............
(a) One universal joint

(b) Centre support bearing

(c) The shaft to be solid

(d) None of the above
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(xiv)
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(xv)
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Weight of the vehicle produces ............... in
the side members of the frame :

(a) Torsional moment

(b) Horizontal bending

(c) Vertical bending

(d) All of the above

BH ® dlss AW § HieR TSl T 9R
................... IO~ BT B |

(31) o arrepef

@) &éfasr gora

(|) S<u gara

(%) SwWiaa g+

The shape of the blades in a torque convertor
1S o

(a) Straight leaf

(b) Twisted leaf

(¢) Curved

(d) All of the above

cld HdcY A sl BT ADIN ...
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